
�:3�] 
ime : 3 hours ] 

Uttarakhand Board Class 12 Sample Paper-Set 1 

       
BIOLOGY (Theory) 

R� : (i) � �;:p�.-j4-;:I ij � 30 ™ -g I � ™ 3-1Pfc114 -g I 

��cfi7"�:4 
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[�:70 
[ Max. Marks : 70 

(ii) l-P!.--f 4-51 ij "'clR � 3l, 61", "fl" � � t' I � '31' ij 8 ™ � 1 3lcB" cITT, � 'q' ij
10 �� 2 3lcncITTtl � '"fl"' ijg ™�3 3lcncITT�� ·�· ij 3 ™
� 5 3lcB" cITT t I

(iii) 311c1�llche1ljfilx � -11'-1ifcl-;a ITT� 1 

(iv) -q� ™ '9" � ¢)fuj� 3frx 3R=r (1q) cITTTI � I \Jfl" ™ "-i" 3ITTTT "ITT '3"fi" � � �
-.-i- chlfui� I

ote : (i) There are in all 30 questions in this question paper. All questions are compulsorv. 
(ii) The question paper consists o(jofu Sections A, B, C and D. Section 'A' contain; 8 questions

of 1 mark each, Section 'B' is of 10 questions of2 marks each, Section 'C' has 9 questions of
3 marks each, whereas Section 'D' is of 3 questions of 5 marks each.

(iii) Draw neat and labelled diagrams wherever necessary.
(iv) Start from the first question and proceed to the last. Do not waste time over a question, if you

can not solve it.

� - '31' (Section-'A') 
� v11f&ch1 cfllT t ? 
What is Rete Testis ? 

1JN:r cITT � w � � 4 4 Rc1 Rfo mm t ? 
Which part of flower change into fruit ? 

� fclch<:'47 cmr t?

What is allele ? 

j01'{f-::illl Z:frllRc1ct.-i 4 �-e11.-i1.-ax01 ch1" fP-l$ll�� 1 
Explain translation in chromosomal mutation. 

-sik1x1 tl � �� � 4 mx=c c$T fcn"fl � cITT � W<.lT \Jffffi % ? 
Which species of yeast used in the formation of bread and ethanol? 

611 lll R� cf'cx cmr % ? 
What is bioreactor ? 
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7. ��cf> 3ITcTR 1:R' 1lNf �� "ff?f cp1 fclx,�-s l!sl"iRI� I
On the basis of number, draw a pyramid of grassland ecosystem.

s. m � cpl 3ll�l!sl01� Hxi54°1 c61�� 1
Draw a diagram of food chain.

� - '"if' (Section-'B') 

9. �-Htl-r-F-f TI� f¾'{-ie1�.--i cpl' fl'-1$11�� I
Explain double fertilization and triple fusion.

10. f.1-9 � qTT �� fclcbl�� wll if� cB1�� -
c:.c,Jl{sc'11, J-tl'M<:11, Htlil-i, ga-1cb\JJ-i-i, ., gn1.--i0-1
Arrange the following words in correct evolutionary sequence -
Blastula, Monda, Fertilization, Gametogenesis, Gastrula, Zygote

1 

2 

2 

11. .-qJ,}c,J�'1c:1�-s er �-dlx-11�-s it cflIT 3Fffi" % ? � � � � �c1�1c:1�-s q �C'l�'ix-11�-s
� �Fil�� - 2
(i) a-m:cr>" (ii) � (iii) 45tflb1Rcb 3Fc'1"
What is the difference between Nucleotide and Nucleoside ? Make a molecule of nucleotide and
nucleoside from the following material -
(i) Base (ii) Sugar (iii) Phosphoric acid

12. L(>1!'-fs-i'1��s-i (s-i<.>1R�, 4x'111i11) c#l" cfFl" 0-1,Rt�'i cf> � R;i�� 1 ffi � � � �
tITTfcb g ? ½+½+½+½=2
Write the name of three species of plasmodium. Which species is most fatal ?

13. 3Jl"l1cfi fcl-=c:rN � fcr,�n�'i q)l" 3lt4)lt5e1 3tR �cf>� cf>� ctirr � cITT:m % ? � � {fcIT

"\JJT xfcITT7T % ? 2
What according to you encourages adolescents to engage with alcohol and drugs ? How can this be
prevented?

14. �-C"l'fi"!cb,01 er �-fr-!Tl<b1°J if crnw en 3T"".-c'R �d,�� , 2
Write any two difference between B-lymphocyte and T-lymphocyte.

15. sM1s-i1rll cf>1�1cb1 � � cf>l�lcbl � m fi1':;:r % ? � c61�� 1 2 
How is cancerous cell difterent from normal cell ? Clarify.

16. � \14xcb fcRr m � � c#l" 04xc11 qTT �-'lcl � ? 2 
How do biofenilisers enrich the fertility of soil?

17. f%s-i�o-s'i lN ��qcb '3t9Jldl cf> ™ cpl '3&&1� cB1�� I 2 
Write the effect of global wam1ing on Glacier.

18. � � cf> � clJRUT �di�� I 2 
Write major reasons of air pollution.
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� - ·�· (Section-'C') 

19. JTWcflTT%?3�cf>�cfTTli�I
What is Placenta ? Write main functions of placenta.

20. "Cffl"aTT� fiqjxOI q=m t 7 "Cffl"lffi� fiqjxUI cITT �l!sll�-;l GRT fl'i�l$C! I
What is Test Cross ? Explain diagrammatically Test Cross ?

3 

3 

21. � cf>"T � crTf 0� I fi:rITT cpf � crTf AcTQTT +TTITT q)l B % I� cf> '117�1cl� � <:BlRiJC!
3fR � �if� >k�1�1a cti"H1c1�q c#t '11lrfqjl{) m1<f <:BlRiJC! 1 3
The blood group of a baby is 0. The blood group of father and mother are A and B respectively. Find
out the genotype of father and mother. Also find out the probable phenotypes of other possible off springs.

3J� (OR) 

� �� 3l� � 0('qRc1d-i � m � � t 7 
How gene mutation or point mutation takes place ? 

n fu-rr fl gc,prf :rrr � cpITTf g ? � � cfUTT'cT � c:py � � cfUTT'cT irr c#t qffiq) ffi � 
cR � Tf<TT, � � °ficTFlT if� x11T � m �"'I" "ITT1TT? �\!sltR1-;J ITT'<l flJ.i$ll�C! I 3 
What does sex linked character mean ? If a haemophilic male maries a carrier haemophilic female, 
how this disease dev'cl�p in their progeny ? Explain diagrammatically. 

23. intfi, cfTTq5T � ,aj.,- "B m � �IT � � � t ?
What drugs can be obtained from Poppy, Coca and Cannabis ?

24 .• 3111c1i�1qj �q1.=aRa � ci> \-3('qlG--t ci> C1J11 cf � fBi�C! 1 
Write the advantages and disadvantages of production of genetically modified crops. 

25. � >l12.l..-fl cf<lT t 7 \TTl Wc:r q)l "--tTB �al�� vTT � it<TT cn«TT % I
What are cry proteins ? Name an organism that produce it.

26. � cf> � -=cJN Be-TUT� I clC'll�rf � q)l cflTT cfTTli % ?
Give any four characters of epiphytic plants. What is the function of Velamen tissue ?

f-19 Lfx Fe ll.j of) fB-1 � C! -
(ct)") fli5'1qqj1Rdl 
Write short note on following -
(a) Mulualism

3J� (OR) 

(b) Parasitism

27. � � q=m t 7 4lx'117Cll '1Rj3TT q)l � cf '3Glgx0I � I
What are transgenic animals? Give importance and example of transgenic animals.
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2+1=3 

1 ½+l ½=3 
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� - •er (Sectio�1il�
:, ... 1�t j:.s-r,,� .•

2s. -rN � m cfll"T ™ � ? � m cff Tpt -fffo� cpl qUR cB)fGI� 1
What are contraception ? Explain different methods of contraception. 

3T� (OR):;;-�Pi7 ·JSTf:' 
:,inrru.�sit� .. 

(cp) � cff �o-sl�lll � � cITTc cpl� '11'11� � ◄--11�� I
Draw a neat and labelled diagram of tansverse s�:Of woman.

(�) q-<l'lct>lt:1 � � cpfe cpl� .::i1Jli�a tlas..,4'!:,,
Draw a neat and labelled diagram of transverse ��n sac.

29. 8!Jil45cllG m x3q1Rrfa c"1"1!fUTT cGI" ci�ll'IRI (ff fflctil.=a cpl. q�-�·, .::ict8!Jil45ctlG q)1" tli-1$11�� I 
Describe Lamarckism or the theory of inheritance of acq�ers. Explain Neo Lamarckism.

3T� (OR) -�.dfflSBJ

�jC'\�sH � cfll"T cTTcG<l �? � �Rn ....... lll���- cpl qOR i._ .. 1L
What is meant by transcription? Describe the process of��-

30. � �1m'1°1 � cmm � ? Ri-«11-< � t!Ji$it• � s
What is ecological succession ? Explain in detail. . ·s!lt,�J�"H.

'.J]'Q,-;n' .f).�t·j, 
VJ� "' 1 ( 0 R) · · �; . · 

� l'f � "'rlw q)f qUR cB)�� om � lf6Cq 
C. 

Describe Carbon Cycle in nature and explain its impo
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